jiaTeTeg, G AT e - CSTTTAIT ) Fww gHe] 2030 .
Sz 5. 2 (AT DA g T 9&&%30&:{,

— Ha FHIE '
TR
FegRe - I BOOKLETE:IF;. 201901

AT ST IO 9 UETeAT FAATrel HE9d® WM TR 9 : 100
@ : 1 (TF) T TEO T : 200

(1) HET 99IYRahd 100 FPTar UyT oied. SHeariAT ggardr S fefvarg goam wrargEl @ yegRasd
T WeT oA e e AT W HEA W, T 3 B1E A AGEdT & WTYRih] FHeshing

(@) eer TheT S & e THE-HHIH :—‘
) | S5 et I %

(3) o BT WTYRAH! ¥t gHeaT Saw ey fafire Frl saahera e gyt 3 Raw g we.
@) (@) T HTgRGHAIS Yo 9T 4 THT T Gaadt oG T 1, 2, 3 SR 4 ST chHie e SR,
AT TV Gt g Sl HHIH SAUNBA NS FEATAT JHET FARIha] g Sl 3130
YTt TATUTHEY SAGHTE Y& LM ol Geltrd TThaimamT Braiihd & qeiael S qra

ehlaoll BETaT, FIEHTYAI el Floal ST AP AT, Afeees 41 9T ¥ ames a.

@) ST v Rrearars TR TET el A R e A i e TR R AT S S T e
BITUATA AT AT, AT TR Rl Taeiiio AyTe TRoTaIaige STdT o1 STy fersmd o e

STeRT ST, ST Tt R Tary Ao R args vem. _
(5) W YYAAT FHE T ARG, AR T YA I WA, TTEHe el BV ATER ATal GEAT S T
T S we iearEe. HE 99 Sl Suent ST quT TEEr W9F FEv1 e AEt 98 A el 9
C RITES TEA. I WBN ST usAadd e 9% fives Uitvrd HET v afmeed] Ygihs

T TEEBL L.
(6) STXURREd UHET YT B ST WrEdT JUIT T8, TE FH5S T @A T Tat e of qUres oM .
TEHTYEAT AT T TYE S o T HA TS TARS § T Il FACE T T Bt TS, '
(7) WA TSR FARUTHY GeATh ST SHEARTS SaTaihaie 9 S o1 3@ Hdie. a8 ‘e
Tegfre STl T RewiE e TR vt el 2 SR SR WU TR, AT S S
TR Fele vl Saaanel 2 5% B 1/4 o1 T/ Fam 3w

EAEA & Q| S9g A

Eh=AT

qQa

l- aATHT= 1
o A EETE S it 73 T8 Wwa & vegfes STarTE A SR A adense
AN TAAATE AT TR A9 AR & IT WAwA FE WIAYRAR AT waA/www, A ww
| FYRAFAS FE FE FIOTEATE FEI T N ATAAT FIOTATE FRiE a0, a8 Wies
F T O A AN FA FOTA TR AR A FI Cqheinsd Ao i
Wiy FoararEa AfafEn-82" A TRgEaR 9T TEon FEEET agaTaR S Ha
Eammmwmwmmmwmmmmvm
TG T AeEEAT fifen F I8 areaendt & wegRa sEgawer s @ gan T T
mwmm,mww&mﬁa&mmmwﬁgm
AR FEE Foam 3 7 W 2wl i = e J
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1. 9 ST REW Ul 39T AEETEl HhaquTel qar &Al e, o gome geid ey amenid

3.
(a) AT M qdaen vd® AHTUST N § Z wdad) YHHH 187 aradl. aTq=m A TIeh N, B Tgei O
TN 3MRT N Z STEiastt A O M o8 S HAW HigT 9hd A&l Samsl. IuE e N

UER M, Z TasiT A QIHHTOT.

(b) R 1 WYA Prawid Yol STERaastl quiary Sereat s HigH & Felidh el i Sfel o
A% ITEET. TS A BEH 26, B A5 25, X A 03, ATTATI.

1 TONARER INVESTOR AT STEETET §ehd el

(1) 0514220919201518 (2) 0514210919211518

(3) 0513220919201519 {4) 0514211019201318

Safal and Dia formulated a coding system for texting the messages secretly. This system is based

on following rules.

(a) Replace each letter from A to M by equivalent letters from N to Z; thus A is replaced by N, B
is replaced by O and continued. And letters from N to Z are replaced by equivalent letters by
arranging A to M in reverse order; thus N is replaced by M, Z is replaced by A and continued.

{b) Replace each letter resulting from operation 1 by a two digit number according to its place in
the alphabets arranged in reversed order using; so A becomes 26, B becomes 25, X becomes
03 and so on.

Select the coded form of word INVESTOR according to this system.

(1) 0514220919201518 (2) 0514210919211518

(3) 0513220919201519 (4) 0514211019201318

2. TCA+BaAT 3t AEI BT oS ®; A—B o7 318 A & B < S8 o1%; Ax B = A A ¥ B ¥ T\ omed
ST A+ B a1 31 A & B O W& SIE o N & M T W1 31® 41 214e faam e,
(1) N+P—-L+E-M (2) M-YXP—-N+E (3) N-Y+A=-M+E (4) N+C+FxM-L
If A+ B means A is the mother of B; A— B means A is the sister of B; A X B means A is the father of B

and A+ B means A is the brother of B. Then select the statement that means N is the maternal uncle
of M.

(1) N+P—-L+E-M (2) M-YXP-N+E (3) N-Y+A+M4+E (4) N=C+FxM-L

3. W% WISl dige oX feaeh AT v orw W et e diASTiaeas ofY . T Hidt anfty
< WEH Bl U Rewma gagpe i@ 100 Tfew @rae. & Arean onft W wEm sigsi
QOIS 175 3T et arTan. o ke st R wataig gae fram fras
(1) W& higSie 24 TEAE ST TG BIGETS! GE AT 30 ST st TLIM SR
(2) o W 9 T WEE BiaSA yAS Rash @ dwmrdr 450 o R e,

(3) I BieEien fEa@v™ @ %A 65 o feebr Y9N .

(4) W& BiSSINN o Head WS B gEE AT T,

Each of large chicken consumes equal quantity of food every day and same is the case with the
small chickens. One large and two small chickens feed on 100 pellets of chicken food in a day. 175

pellets of food are needed for feeding two large and three small chickens in a day. Select the false
statement from options on the basis of this information.

(1)  Thirty pellets are sufficient to feed one small chicken for little longer duration than 24 hours.
(2) 450 pellets are needed for feeding three large and ten small chickens every day.

(3) For feeding one large chicken for a day 65 pellets are sufficient.

(4) Large chicken consumes double quantity of food when compared to small chicken.

F=1 FHTATA AT / SPACE FOR ROUGH WORK PT.O.
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4. UH IS Y 99 AT HTETAT STISTA] 9qTed] 2/5 a5 3. 8 IuHdT o e Asean Adsen
TIFAT 1/2 3% ST T WTSAT AR MY a7 fdl ?
(1) 70 (2) 60 (3) 40 (4) 62

A person’s present age is 2/5 of the age of his mother. After 8 years he will be 1/2 of the age of his
mother. How old is mother at present ?

{1y 70 (2) 60 (3) 40 4) 62

5. 3y s e
e B : BIE T GO SRS, BIE IO FEIIR AR T FEINK BT 1.
forepy -
(a) TR PEIFIT WO 7.
(b) TR HieET T TR,
() T AT HieET .
(d) WrEl Hiee wTol AR,

T L
(1) ™ (a) 9 (b) (2) W (@) 9 (d)
(3) WA (a) T () (4) % (b) T (o)

Select valid conclusions.

True statements : Some queues are animals. Some animals are wrestlers. All the wrestlers are
poems.

Conclusions :

(a) Some wrestlers are animals.

(b} Some poems are queues.

(c) All the queues are poems.

(d) Some poems are animals.

Answer options :

(1) Only (a) and (b) (2) Only (a) and (d)
(3) Only (a) and (c) (4) Only (b) and (¢)

6. =T% FHEETC I FEh aUE 103 o, OX AW gaid Ao A weard Sl B o ?
(1) 109 (2) 112 (3) 110 4y 107
The average of the Nine consecutive odd numbers is 103. S0 what will be the average of the two

largest numbers of them ?
(1) 109 (2) 112 {3) 110 4y 107
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fava & %™ 8 fXaqa Hl ¥ BW FEwr g 10 faw armaE. K 3 frgd § B w5 s

T A FW T FOAE ol I are 7
4 4
(1) 10%%?1’5 (2) 6%1"@? (3) gﬁaﬂ (4) 45‘13@'5

Vishwa can finish the work in 8 days. While Srushti can finish the same work in 10 days. If they work
together then how long they will take to finish the same work 7

1 1 4 4
(1) 105 days (2) 6 > days (3) 3 days (4) 45 days

TH Ard AfETdie Sz War So@n ard) o o a1 yereeyia fdean i gi@uen fiived
o,

foram e -

(a) §IFRETY & 1 Aig=ma e fiaq o,

(b) @ Aft=rEn giewn WErh 5 gl R,

i Y

(1) (a) & (b) T4 MaTS.

(2) wa (a) TON AL

(3) W (a) e (b) TLalr ome.

(4) % (b) T TE.

Decide sufficiency of data with respect to the question : On which date the last Sunday of month
March was ?

Data statements :

(a) The last day of that month was Friday.

(b) The first Sunday of that month fell on 5th,

Answer options :

(1) Both (a) and (b) are necessary.

(2) (a) alone is not sufficient.

(3) Either (a} or (b) is sufficient.

{4) (b) alone is not sufficient.

THT UTON 1T 167 o TS HIET 1. Hawaqﬁwnﬁwmmamaﬂﬁaﬁmwﬁﬂ%ﬁaw
I T I quGdT I AR JOE TH G e 69 39, S Tl T gEAET Th
T AT AW T FE A=A e T Rt e s ?

1y 71 (2) 76 (3) 81 4 89

In a certain animal group there are juvenile as well as adult females. Infant female attains adulthood
in one month and on an average gives birth to one new juvenile female every month for about five

years if conditions are favourable. If there is one new borne female in a group to begin with then
how many females will be there immediately after ten months ?

1y 71 (2) 76 (3) 81 (4) 89
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10. YNNG GHRIE SWE A6 fEso 7% THad.  Sgel (e §gaa BB ST HIel
sfweriamha @ SAR HIAT Ja). a9y FEEl STEUIT $UW AWl W qAeEady ik
s e AfE FHTOES FLAEAT T qieal B ! AMEEdr % Jhd. RO ST
T .
ydid faemiqe e glmaraTar smaregd o Fast.

(1) WFENER S Tamte Reda FETT St .

2) ResmTepaardl shweiyar AFETEr s THTE ST 3.

(3) WFEYET SfuEiEn SURIIEET ThNG Sl 9d e

(4) wFeTEn sfTEEEa Rewaeesar 8 AeiE draEE .

Many people suffer from depression in modern society. This can be alleviated through certain
drugs that alter the chemical balance of the brain. However, the individual can undergo
psychotherapy that involves talking through problems with a sympathetic and skilled fellow human
being with a view to putting the subject in a more positive frame of mind. Depressed individuals
who do not like the idea of their brain chemistry being altered should therefore choose psychotherapy.
Select an underlying assumption of the above argument from following statements.

(1) Psychotherapy does not alter the brain chemistry.

(2) Psychotherapy is more effective than drugs in treating depression.

(3) Psychotherapy cannot be combined with drug treatments.

(4) Depression is always there with human beings when he came to existence.

11. w4 Rreeten TR 3/5 YA o Snf A 1/3 AT Ui 75% =1 9T 07 freaw. WX 15
TR FUSE 75% =0 g o Prean Frde 9% e wraeen faretd den ssfavm waie frest,
1)y 75 (2) 90 (3) 60 (4) 30
In a group 3/5 of all students are girls and 1/3 of girls scored above 75% marks in English. If 15 girls
have scored above 75% in English, then select the option that indicates the number of students who
are not girls.

(1y 75 (2) 90 3y 60 (4) 30
12, U@ RIS AL TEOT 240 WG IR, WS 15 Tah Rehaiel, SEhedial sty frdpe ¥ fdh @@ @

TEaAd. O AT BoRE 3 SR Bed AN Ue Seent Qo A ST I Qi HEAT 60 .
had RTATEI WauTl Yorgdl §ET 80 9. G STEpe ST W bl B fhehed oA,
79T YT Qogdr we fdt ?

(1) 60 (2) 58 {3y 63 (4) 64

Out of a total of 240 players in a sports club 15% can play all three games-Volleyball, Basketball
and Cricket. It so happens that the number of players who can play any two and only two of the
above games is 60. The number of players who can play the Volleybalt alone is 80. What is the total
number of those who can play Basketball alone and or Cricket alone ?

(1) 60 (2) 58 (3) 63 (4) 64
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13. & Gabd YUTEGEN, ‘poachers killed some tigers’ &1 ¥ ‘sto del war vqr’ & 311¥, ‘tigers are brave

creatures’ T Whd ‘puz war lyn mul’ 1 311, ‘some watchmen are brave’ =T b ‘sto mul lyn kig' STET
3TTE ST ‘watchmen are searching poachers’ 1 Wehd ‘del agf kig lyn’ 3T&T AMME. AT Habd Q'Urr\"ﬁj'ﬂ'l'{'
‘creatures killed watchman' a1 Had fraeT.

(1) kig, adf, del {2) vqr, puz, kig (3) puz del, vgr (4) lyn, kig, agf

According to certain coding system, ‘poachers killed some tigers’ is coded as 'sto del war vqgr’,
‘tigers are brave creatures’ is coded as ‘puz war lyn mul’, ‘some watchmen are brave' is coded as ‘sto
mul lyn kig’ and ‘watchmen are searching poachers’ is coded as ‘del agf kig lyn’. Select the code for
‘creatures killed watchman’.

(1) kig, agf, del (2) var, puz, kig (3) puz del, var (4) lyn, kig, agf
14, “fraw wAER A de, & freed dedt g st S 9 v,

ad :

() w1 T Py a1 S AT AT R, ST gaid 9Edl are.

(b) Tiram gadt ol

(c) 9 AMIET A el qoT df dieal STl A

(d) Pram sTHTER AT e

A Sy

(1) () (b) (2) (@) (0 3) (b)) () (4) (b), (@

Identify two facts that prove conclusion, “Mita beat Jamna” to be always true.

Facts :

(a) Jamna and Mita both beat Tani, who finished last.

{(b) Mita finished runner-up.

{c) Jamna beat Tani but did not stand first.

(d) Mita beat Shama,

Answer options :

(1) (a), (b) (2)  (a) {9 (3) (b () (4) (b). (d)
15. ¥ Reemg deas] o @ € gon had ThaE @ik od. W 48 anhes {9 g

ST T T e W R A GoreAT Qe e gerear e,

(1) 1/6 (2) = (3) 177 (4) 6/7

There are seven Christmas gifts and seven correspondingly tagged identical boxes. If the gifts are

randomly put in the boxes, select the probability that exactly six gifts go into the correctly tagged
boxes.

(1) 1/6 (2) Zero 3y 177 4y 6/7
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16. @ee foum g
(a) oer FeteRr Rt Reamean g&w o
(by g5 ani Agrar femw B Toare fawn e,
(c) HerSg =A™ Wi #=%e 307713 A.f%. . e,

T s
(1) ed fI9M (a) 09T AR (2) e fagm (b) IOET T8
(3) Wad FuM () SUST 778N (4) faam (a) sufer (b) s0ET @A,

Observe the following statements :

(a) Jalna district is located to the east of Hingoli district.

(b) Dhule and Nandurbar districts have borders of two states.
{c) The Geographical area of Maharashtra state is 307713 sq.km.
Answer options :

(1) Only statement (a) is incorrect (2)  Only statement (b) is incorrect

(3) Only statement {c) is incorrect (4) Statements (a) and {(b) are incorrect
17. SFEIET 2001 31T 2011 qHMT 3y ftemmres arfer TEL Fe.

(1) 27 anfir 47 (2) 48 anfor 51 (3) 37 amfr 51 (4) 50 sTYT 56

As per the census 2001 and 2011 and towns exist in Thane district.

(1) 27 and 47 (2) 48and>5l (3) 37and51 (4) 50and 56
18. WA e 9e

(@) TR R sfaor R & garerd @ wotRar TEi S SR

(by EETEAT WY & vl oA RaR g, wlvar S & A et s e S,
T S

(1) (a) 3T (b) ST (2) (a) SUST (b) Y&

(3) (a) g% (b) I 4)  (a) e (b) 9%

Observe the following statements :

(a) The Indravati and Pranhita rivers form the Southern boundary of the Gadchiroli district.
(b) The Indravati forms a boundary with Chhattisgarh state while the Pranhita with Telangana

state.
Answer options :
(1) (a) and (b) True (2) (a) True (b) False
(3) (a) False (b) True (4) (a) and (b) False

FEAT HITATS AR / SPACE FOR ROUGH WORK
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19. HE faens 9@

(a) WS &l & MErEdE T oT ot ey S e Ie Rua e

(b) gyl ST AW T MIEY TS IITE .

A S

(1) faue (o) SUET oM (2) Taam (o) IO a1

(3) faum (a) anfer (b) ITEX 3w (4) Taum (a) snfer (b) STET A

Observe the following statements :

(a) Pravara is a tributary of river Godavari and located to the north of Harishchandra mountain.

(b) Wardha and Vainganga are the tributaries of river Godavari.

Answer options :

(1} Statement (a) is correct {2) Statement (b} is correct

{3) Statements (a) and (b) are correct (4) Statements (a) and (b) are not correct
20. HIV THIERS 17-05-2021 TTAM AR pTRugay qioms we e ?

(1) et 2) AN (3) e (4) =S STe

Which cyclonic storm affected the coast of Maharashtra during 17-05-2021 ?

(1) Nisarg (2) Gulab (3) Tauktae (4) None of the above
21, ST S

ot GIGED|

(a) TEfaTE (iy faad

(b) TEQ (i) =

(c) ifean (i) gEaa

(d) wsT (iv) wmge

T =

(a) (b) (c) (d)
(1) Gy @iy vy (i)
(2) @iy () () (iv)
(3) (v) @iy () (i)
(4) (i) (ivy (i) (@)
Match the following :

District Taluka
{a) Gadchiroli (i) Jiwati
(b) Chandrapur (iiy Deori
{¢) Gondia (iiiy Mulchera
(d} Bhandara (iv) Lakhani

Answer options :

(@) (b) (¢) (d)
1y Gy Giy vy ()
(2) (i) () () (v
(3) (v) (i) ) (i)
(4 () (iv) (i) ()

FHAT HHTETS AAT / SPACE FOR ROUGH WORK PT.O.
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22, ST oA
HeTRAE fram AGH
(a) STHTE! OIRELGIL S
(b) AR (i) wTme
() oiemER (it famx
(d) @i®w (iv) WSl
T S
(@ (b) (9 (d)
(1) (iv) @iy () ()
(2)y () (@) (i) (iv)
(3) (i) @) (i) (iv)
(4) (v} (i) (i) (i)
Match the following :
Administrative Division Tahsil
(a) Amravati (iy Khalapur
(b) Nagpur (i) Sengaon
(¢) Aurangabad (iii} Bhivapur
(d) Konkan (iv} Ghatanji
Answer options :
(a) (b) (c) (d)
(1) (iv) @i () 0
(2) ) iy (i) (v)
(3) (i) @ @iy (v)
@ (iv) (i) 0 (i)
23. TG AT AT B STOATEIST BV SIS SR 9 A7 S gE e ¢
(1) i gEsit FEr deEr - 2014 (2) 3R smErg g — 1989
(3) TIETET SETE AT — 1995 (4) OSTTIR T AT — 2011
When and which house building scheme was started in rural area of the state ?
(1) Dr. Mukharji Niwara Yojana - 2014 (2) Indira Awas Yojana - 1989
(3) Jawahar Awas Yojana - 1995 (4) Rojgar Hami Yojana - 2011
24, HENTSZAM =Sl S0{®Hg ARIHS ST HH T 1 7

(1) e, ST, oTsiel, HisT

(2) GV, orfaT, wisT, risre

(3) SNIET, I, WisT, sttt

(4) SSTe, BiST, HHTEH, AT

Which of the following sequence of ghats in Maharashtra from north to south is correct ?
(1) Kumbharli, Amba, Amboli, Phonda

(2) Kumbharli, Amba, Phonda, Amboli

(3) Amba, Kumbharli, Phonda, Amboli
(4) Amboli, Phonda, Kumbharli, Amba
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25. @ faamET fmr @
(a) HERTTT watas UHE Ry fiendia e 39 g=ar.
(b) STiSTEreAT A SS[AI SR a IraTean YAl 919 Wihe SR,
Y T
(1) = e TR @ gae fqum it faamm 9 e o,
(2) = faum gERET o
(3) I Frum IO g TR Raam uRken Rramm drg w1
(4) ditel T S0 w1y g .

Consider the following statements :

(@) The highest rain in Maharashtra falls at Amboli in Sindhudurg district.

(b)  Mountains on three sides of Amboli and the entrance to the wind is open.
Answer options :

(1) Both the statements are correct and second is the correct explanation of first.

(2) Neither of the statements is correct.

(3) Both the statements are correct but the second is not the explanation of the first.
(4) The first statement is correct but the second is not correct.

26. GAwID! FArG fqu™ e
(a) SI. STOTERT AISHU BT Yah Gardy YT e,
(b) =T JrATERY SHivEHIT BT oM TESTA Reerwar Jorli wwar ¥ gaus aeRm.
(c) Ut e ARteT AETeT Wl 7 Y. TEERY i¥sHT qrET SMLAEd WA TaEK q9
THEET 918 .
(d) ‘WEIC HiT gk At fren Rrsfvarardt wsdt a1 wedw aRion WS g A o,
i T
1) (a), (0, (d) Fram srirg omea (2) (a) (b), (o) Taem s M
(3) (b). (o), (d) Faem sy ameq 4) (o). (d) Fram srirg emm
Which of the following statements are false ?

(a) Dr. Babasaheb Ambedkar established ‘Harijan Sevak Sangh".

(b) Dr. Babasaheb Ambedkar started ‘Samata’ Newspaper from the donation given by Chhatrapati
Shahu Maharaj.

() In the first Round Table Conference there was dispute between Mahatma Gandhi and
Dr. Babasaheb Ambedkar regarding separate constituency for untouchable.

(d) “"Mahar Mang Ityadi Lokas Vidya Shikavinyasathi Mandli” to this institution assistance was
given by Dakshina Prize fund.

Answer options :
(1) (@) (¢), (d) statements are false (2) (a), (b), (c) statements are false
(3) (b), (¢), (d) statements are false (4) (o), (d)} statements are false
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27. 25 U<EY 1916 st WETE I 1, o1 I3 T ST TAF FHEAd] ST el 7
(1) BTea @ (2) ®EA 9
(3) g wemw (4) @9 wa
Which union was established by Dr. Annie Besant on 25 September 1916 at Madras ?
(1) Homerule League (2) Common Weal
(3) Hindu Mahasabha (4) Swarajya Sangh
28. THACGUTIHAT haredl AUl SIS wre :
(a) TR Wg TETHT (iy FFEEA
(b) ST §THT 918 (i) R W (1927)
(c) vufEar wERE (i) AWE a9 T
(d) YEE I (iv) s e Togehe™ GrErEdl
I S
() (b) (c) (d)
(1) (v () () (i)
(2) (i) (v) () (i)
(3) (i) @ (@) (iv)
(4) (iiy (v) () (i)
Match the following works done by Social reformers.
(a) Dadoba Pandurang Tarkhadkar (i)  Mukti-Sadan
(b) Jagannath Shankar Sheth (i)  Farmers’ Federation (1927)
(c¢) Pandita Ramabai (i} Manav Dharma Sabha
(d) Punjabrao Deshmukh (iv) Bombay Native Education Society
Answer options :
(a) (b) (c) (d)
1y (v ) (i) (i)
(2) (i) (v) (i)  (il)
(3) (i) () G (V)
(@ iy (v) @ (D)
29. PrfrwaT SaEE e THiHE W SR G e arerd! i R & He
(1) st g5 (2) =t FTWER (3) wwwEa few  (4) | oSl
proposed the concept of Antar Bharati to ensure that people from different regions were
acquainted with other cultures and languages.
(1) Dr. Munje (2) Dr. Hedgewar (3) Lokmanya Tilak (4) Sane Guruji
30, 1887 WA WATH AU WO HIIE AU ST TS AT Jued.
(1) TREE [ (2) =N TR
(3) Wr"d wel (4) wgEH FEEs
____ presided over the congress session held at Madras in 1887.
(1) Dadabhai Naurgji (2) M.G. Ranade )
(3} Moropant Joshi (4) Badruddin Tayyabji
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31. A& T AR T I9 WG ST, TO7 AT GE9 A ang, gl @ wroll = Hell o ?
(1) TUIE e (2) YPHaTE U
(3) FPENE HHT (4) UEATE IIE _
Who expressed his grief by saying that farmers and workers are real strong pillars of the nation, but
they are now suffering ? ‘
(1) Ganpat Pati! (2) Mukundrao Patil
(3) Krishnarao Bhalekar (4) Yashwantrao Deshmukh
32. T.H. 1910 Hed Fremerre AY fég weraee wer el HEee e saihg B a7
(1) o 2) shEr (3) Tl 4) THEE
Hindu Mahasabha was established in 1910 at Allahabad. Where was its headquarters ?
{1} Ayodhya (2) Haridwar (3) Delhi (4) Rameshwar
33. gauiawdl Hw fHum dr o ?
(a) WIS TEOH i ‘THIRT T HIaIed g6 B
(b) SR @I FNHT AT SIIBIN ¥ TS ARG
(c) Wiveq SR A omg’ & ‘egEd § O go e,
(d) oo g sreardl il ‘AT a1 JaTEE e R Ais,
T
(1) (@) (b), (0 faam™ IO oM (2) (a), (d) faem sXET amda
3) (@) (o), (d) Fae™ TTET ama (4) (), (b) Frem SU=T amea
Which statements are true regarding Newspapers ?
(a) Bhau Mahajan started weekly ‘Prabhakar".
(b) Acharya Bal Shastri Jambhekar ran Induprakash’ Newspaper.
(c)  'Shri Shahu’ and ‘Shubhsuchak’ Newspapers started from Kolhapur District.
(d) Vishnu Buwa Brahmachari expressed his thoughts through ‘Vartamandipika’ Newspaper.
Answer options :
(1} (a), {(b), (c) statements are correct (2) (a), (d) statements are correct
(3) (@), (c), (d) statements are correct (4) (a), (b) statements are correct
34. ¥ HHTTE WET =T SR gew S ?

(a) ETSTN ST W .

(b) EBRTEeT RwMT e HYvard s

(c) U (1882) 31T eTEETE (1887) fyamirait wmamT .

(d) smifie onftr Sfew freromen 7o Ry

T I

(1) (b)), (o), (d) (2) (@), () (d) (3) (b) (d) 4y (@) (0, )
Which changes took place because of Hunter Commission ?

(a) Priority was given to private sector.

(b} Department of Public Instruction was established.

(¢) Punjab (1882) and Allahabad (1887) Universities were established.
(d) Importance was given to Physical and Intellectual Education.
Answer options :

(1) (b (0 @) (2) (a) (b), (d) (3) (b), (d) (4) (@) (o), (d)
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35. ‘FaATel ST e e gl | ¥ ST SHeTY O B 7
(1) s §HI 2) omd gus
(3) WA |HS (4) THEMNYUD T
‘God is the witness of everything. He does not require any middle man’. This was the central idea
of :
(1) Bramho Samaj (2) Arya Samaj
(3) Prarthana Samaj (4) Satyashodhak Samaj
36. SIS @@l — (T G ARRsiS a)
.lAl IBI
(=) (@)
(a) Y HLTITET SUHN (i) 48
(b) WHM I ST WIed HOfawas Qg (i) 41
(¢) T v wisy (i) 44
(d) TN AN BT (iv) 39A
ot Sl
(@) (b) (c) (d)
(1) vy (i) @) ()
(2 i) @Gy @iy (iv)
(3) (i) (B (iv) (i)
@) (i) (v) iy (i)
Match the pairs - (Directive Principles of State Policy)
" %
(Principle) (Article)
(a) Right to work (i) 48
(b) Equal justice and free Legal aid iy 41
(c) Prohibition of slaughter of cows {iii) 44
(d) Uniform Civil Code (iv) 39A

Answer options :

(1)
(2)
3)
(4)

() (b) () (d)
(v) (i) @) (i)
M ) (i) (v
(i @ v (i)
(i) (v (@ (i)
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37. @rene faum feremoe =@
(a) frarE ¥ By WEd GHIE AR,
(b) faumEe ¥ afts YT oTe.
(¢) TaurradEr aEaTER HEET 5 TUET S
(d) PramEy YeEEE! Ul 30 9 qul A S R
JAWAH B I/ FHR TR 7
1) (a) () (2)  (b) (o), (&} (3) (a) (b), (@ (4) (b, d)
Consider the following sentences :
(a) Vidhan Sabha is a Permanent House
(b) Vidhan Sabha is a Upper House
(¢) Normal tenure of Vidhan Sabha is for five years
(d) Member of Vidhan Sabha must have completed 30 years of age
Which of the following sentence(s) are false from above ?

(1} (a) (b) 2) (o) © ) (3) (a) (b), (d) (4) (b), (d)

38. wirser anfvr well qie TR Foheaal HRAE Tod HEell hear q q LG
M & @Y YGM S0 3 1%,
(1) 25,28 (2) 23,43 (3) 36,51 (4y 14,18
The concept of equality of status and opportunity has been given concrete substance and shape in
Articles to of the Indian Constitution.
(1) 25,28 (2) 23,43 (3) 36,51 (4) 14,18

39. 26 FEIT 1949 TSl WIS AT WSS HIVTET qIGT SIHETT 1T ?
(a) IHET SSH TG
(by T et TOE
(c) drgee gEesh e aeqd
(d) TEd e
T I
(1) (a) Sl (o) (2) (@), (o) ST (d)
3) (@) (b) &l (o) (4) iy T

Which of the following provisions of the Constitution of India came into force from 26 November
19497

(a} Provisions relating to citizenship.

(b) Provisions relating to elections.

(¢) Provisions relating to provisional parliament.

(d} Fundamental Rights.

Answer options :

(1) (a) and (b) (2) (a), (¢) and (d)
(3) (@) (b) and (¢ (4) None
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40.

16

HRAR 99T G Gauid @eliada SIvar 9 3r ong ?
(1) oSTEres, TS, GaeTaE), 9, auias
(2) WEMY, TEEE, TN, SRR, TS
(3) WAV, TR, TSIEI, GRS, SHTSTEre]
(4) EEHM, FENER, R, g, T

Which of the following order is correct in relation to the preamble of Indian Constitution ?
(1) Democratic, Republic, Socialist, Sovereign, Secular
(2) Sovereign, Socialist, Republic, Secular, Democratic
(3} Sovereign, Republic, Democratic, Secular, Socialist
(4) Sovereign, Socialist, Secular, Democratic, Republic

41.

AHITE G STRT wres for @ faww T U1 HTATE ST 3R,
(1) wwEd g (2) SR 3) g (4) wagdl

‘Social Security and Social Insurance’ is a subject included in .
(1} Concurrent list {2) Residuary powers {3) State list {4)  Union list

42.

NG dfeam gven fafay st am siean shear ¢

‘A ‘B’
(afr) (sTemmen)
(a) HEATTC FiA - ARl 86
(b) HEYT SRR ST—|iHdT - AL P
(c) haErg diaem qfr - Al 8
(d) oIcTHEATES TR - AT AW HAH SR
T =
(1) % (a), (b), (© (2) % (o), (d) (3) ® (b), (c), (d) (4) B (b), (¢}
Select the correct pairs of various committees of Constituent Assembly of India :
A ‘B’
(Committee) (Chairman)
(a) Advisory Committee - Jawaharlal Nehru
(b) Fundamental Rights Sub - Committee - J.B. Kriplani
(¢) Union Constitution Committee - Jawaharlal Nehru
(d) Minorities Committee - Maulana Abul Kalam Azad

Answer options :
(1) Only (a), (b), (©) (2) Only (), (d) (3) Only (b). (c), (d) (4} Only (b), (c)
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43. Sir=ar e — (U S Aiar geen)

A B
(wew) (waeE)

(@) WO g () €IF Wi T W

(b) W Gl (i) T

(c) TEHAT JAREA (iii)  andrEn

(d) TEPATH T B (iv) w=m|

W

(@ (b) (¢} (d)
(1) Gy @) Gv) (D)
() @iy @iy @v) (@)
(3) @iy )y @ (v
(4) (v) iy (i) (D)
Match the pairs - (Women members of Constituent Assembly)

A ‘B’
(Member) (Constituency)

(a) Sarojini Naidu (i)  Central Provinces and Berar

(b) Malati Chowdhary {iiy Bihar

(¢) Dakshayani Velayudan (iii) Orissa

(d} Rajkumari Amrit Kaur (iv) Madras

Answer options :

(a) (b) (o) (d)
1y iy @ @) (i)
(2) () (i) (iv) (i)
(3) iy () @ (iv)
@ G(v) () Giiy ()

44. AT HYT D
(a) SNdT—{~T gfywg 28 ®, 1990 TSl TG HTe.
(b) STAR-Tg TiwRdl GIEaT 11 R, 1999 Al S0 STl
() U foqepre uf tsdy TTeT 1950 Hed AT,
N
(1) e (a) (2) e (b) (3) W (0) (4) TGB! AT
Select the incorrect statement :
(a) The Inter-state council was set up on 28 May, 1990

(b) The Inter-state council was reconstituted on 11 November, 1999

() The National Development council was established in 1950
Answer options :

(1) Only (a) (2) Only (b) (3) Only (¢ (4} None of the above
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45. WS HUE FE A R ?

(a) TEIASET &9 - (F@H 14 T 19)

(b) Tiphos g Safvrs ean - (&® W 29 9 30)

() TS ITHHNTAT BFh - (®@H 32)

(d) s wesEE v - (=™ 251 28)

arg gty fraet

(1) (a), (b) (&} (2) (b, (©) (d) (3) (@), (o (d) @) atwwd

Which of the following Pairs are matched correctly ?

(a) Right to Liberty - {Art. 14 to 19)

(b) Cultural and Educational Rights - (Art. 29 and 30)

{c) Right to Constitutional Remedies - (Art. 32)

(d) Right to Freedom of Religion - (Art. 25 to 28)

Select appropriate options :

(1) (@) (b), (0 (2) (b}, (©) (d) (3) (@) (o) (d) (4) Al the above
46. YIWIH BN FEEE T F@r qEE (CAG) B & ?

(1) 99T Garg AETaen HIo.

(2) omee gt gy s fafaa o @ s ures SR ot febar AT & e,

(3) W verfumrdy e Ealer Hepll 37 ofed, o JHTie SRS o BTl HE ST @ AT, o
qrev.

4) BB AT gardr eE H.

Which of the following is not one of the functions of the Comptroller and Auditor General ?

(1) to audit government expenditure.

(2) to ensure that financial rules and orders impacting governmental expenditure are obeyed.
(3) to satisfy itself that those who sanction expenditure have the legal powers to do so.

(4) to recommend expenditure for welfare schemes.

47.

Bty g fiyma 18 e 1955 Tl Ry g9aR g onden ke Wate Aga Sl & ?
(a) S ;U (b) ST o () T.&I I (d) W 3R
TR S

(1) FF@AEQ (2 FWOHIM 3 F@@IG (@) 50 ()T ()
Who led the protest march on the Legislative Assembly on 18th November 1955 against the

tri-state Scheme ?
(a) Senapati Bapat (b) Acharya Atre (¢) S.K Patil (d) Morarji Desai

Answer option :
(1) Only(@and () (2) Only(b)and (d) (3) Only(a) and (b) (4) Only (c) and (d)
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48. g aeied fatas Hewme ARareT Teddl Fasen S,
(a) WEE g TEaHwED 99 9™
(b) HEIA el gWTE aid| qew
(0 T4 fagmeda fafha qew
(d) o Gasd 9™
Tele feeied Hehara A 3T Faet
(1) %a% (a) (2) (b) 3T () Ha@ (3) () MFT (d) Hha®d (4) HAB (d)
The President of India is elected by an electoral college consisting of
(a) All members of Parliament and State Legislature.
(b) The elected members of both Houses of Parliament.
(¢) The elected members of the Legislative Assemblies of the states.
(d) Only members of Parliament.

Choose the correct answer from codes given below :
(1) Only (a) (2} (b)and () only (3) (c)and (d)only (4) Only (d)

49. TEWIB BIv Fram THET o ?
(1) TogEde segare e ¥ Saden v tattad aewiesT .
(2) THEHET AT B FHIAT S8l GHRSIE TR Jodiy e Rasw g,
(3) TZudre MeasvEEd & A Hew b d9 STt Faev@Edl e,
(4) HECA G FANERE THMIRTT HEeT SR FMaeu@iHe FaeM svarar sTmre
G R EG USRI B S CE GG A TS
Which one of the following statements is correct ?
(1) The Chairman of the Rajya Sabha is elected only by the elected members of Parliament.

(2) The Chairman of the Rajya Sabha shall preside over the joint session of both Houses of
Parliament.

(3) The electoral college for the election of the Vice-President is the same as that for the election
of the President.

(4)  The nominated members of both Houses of Parliament have voting right in the election of
the Vice-President but not in the election of the President.

50. {OUI=Al G9UT ElEds] BV foum a9 oms ?
(1) U ¥ gieedn Gitsfreme) g He SEteal SHTTeren Rt sIvrd rearer freiearen
GURETET 438 37q STohd AT,
(2) U] HRBIBT e S0 F HeTd ST BT AT T8
(3) gl WOl ST T ST ReR TR ST,
(4) =T ud.
Which of the following statements is true about the Governor ?

(1)  The Governor shall not be a member of either House of Parliament or of a House of the
legislature of any state specified in the first schedule.

(2) The emolument and allowances of the Governor shall not be diminished during his term of
office,

(3)  The Governor shall hold office during the pleasure of the President.
(4)  All of the above.
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51. THHAUH! BT Fqen Ariarean galed AaeaEgd qd A8 ?

(1) WY 929 &eH 124 9 147 3T 90T Ui 98 gaied <ETeared] oA 9 it giedl
et elt ane.

(2) 26 TFET 1950 Jsit Felted <ITArAaTy IGETET ST ST of TEATeAT AT 1956 Tell Sefqudia
Tl

(3) wI WA RN ARG Tegad g .
@) w9 fgun T A

Which of the following statement is not true about India’s Supreme Court ?

(1} Article 124 to 147 and part V of the Indian Constitution informs about the composition and
powers of the Supreme Court.

(2} The supreme court was inaugurated on January 26, 1950 and moved into the present building
in 1956.

(3) Judges of Supreme Court are appointed by the President of India.
(4) All are true.

52. o AR FRTHied Frge SvarETs! ursiee ey i YT S
(a) T TETEY 35 T gof et ST aiee.
(b) o st wraTen wafire e a9 =i URTER e e

&
() & =i Sea T T8l 9y afthell ST SrEee qiea.
fofan
(d) TrEudE 7Y & wfr whig SEdds oETE.
i S
1) @ofFrd @ @omd @ ©EE 4)  (b) e (d)

A person to be appointed as a judge of a High Court, should have following qualifications :
(a) He should have completed the age of 35 years.
(b) He should have held a judicial office in the territory of India for ten years.
OR
(c) He should have been an advocate of a High Court for ten years.
OR
(d) He should be a distinguished jurist in the opinion of the President.

Answer options :
(1) (a) (b) or (d) (2) (a) (0 or(d) (3) (b)or(9 (4) (b)or (d)
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53, Wmmﬁammmﬁ@@mwﬁﬂw%

A
STET.
(1) Tehl HAHSTU 7™ o =
(2) U FHETTS "™ Y =
3) T TSI AaTe 6 =
(4) Ul STTHEA 99 el =

T THYT AT oL

T faa wvd fragd Tom wew 100

Tl T Aleha & L1
o foren e ety faur ofvwed Fagg 1000
e gewH el

I TR Ahs & L1
g faw @ g faue o dw fag 1000
eier T TGRS o TaRid) gE

[T TR AhE & .2
T o w9 fraga e wemd gen 1000

In Election to the President of India, the value of the vote of MLA from the various states is decided

by following formulae.

(1) Value of the vote of MLA =
(2) Value of the vote of MLA =
(3)  Value of the vote of MLA =

(4) Value of the vote of MLA

Total Population of State 1

No. of elected members in the 1000

State Legislative Assembly

Total Population of State

No. of elected members in the
State Legislative Assembly and Council

1000

Total Population of State

e

Total members elected and 1000
nominated to the State

Legislative Assembly and Council

Total Population of State 2

X
Total number of elected membersin 1000

the State Legislative Assembly
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54. @ foam™ fammoa =0
(a) iHETEd § U9 FSMEATE WY@ & (nerve centre) GiTE.
(b) whrare ¥ g EATEn e Ry g SRR e,
(c) diHa & oy wieaTrarar yg@ .
(d) ufgawa & Y1 AfHT (line agency) TR,
FUATH! BV Femy a0 o ?
(1) (a) (b), (9 (2) (o) 3T (d) (3) (b} oMM (c) (4)  (a) AT (b)
Consider the following statements :
(a) Secretariat is the nerve centre of State Administration.
(b) Secretariat consists of several departments of State Government.
(c) Secretary is the head of the State Secretariat.
(d) Secretariat is a line agency.

Which of the above statements are correct ?
(1) (a) (b) (o) (2}  (9) and (d) (3) (b) and () {4) (a) and (b)

55. Preife a@ == :
(1) T YR fafite w@H s s
(2) TFY THIRYA T. 100 W HU HIITE TRTOT B,
(3) TR THIHYA AT ©. 1 HU HLUATHl HETO B0,
(4) HrorETe =@l fhar SEAITYERE qETiE] 92 gaeE Ao

Principle of Guillotine means :
(1) A specific amount of sum is reduced.
(2) The amount of demand is reduced by Rs. 100 only.
< (3) The amount of demand to be reduced to Re. 1.
(4) The demands are directly put to vote without any discussion or Scruitiny.

56. WICIID] HIVAT TR HITGTEAT TEFIREE) GaHld IR o ?
(1) TS THAT Teed™ FEEaEe! Fgwl Ha.
(2) /A gETEE ATETEETET AT 9 FRE ST T SOl SR STETl,
(3) T HIVIETE! Io AEATd T8l a9 AETHITIaT S &l STEe qreis.
(4) @Y T AL
Which of the following option is not correct about India’s Attorney General ?
(1) Attorney General is appointed by the President on the advice of Government.
(2) He/She must be a person who is qualified to be appointed as a judge of the Supreme Court.
(3) He/She should have served as a judge in any High Court for ten years.
{4) None of the above.
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57. WERISZAT ‘Tiieh i@ afll’ S19a @ faum frara =m0
(a) 25 Y arftr wEwNE .
(b) 20 Yem i A I VS STLALATY AR He S
(c) 5 Uan e TR g weed fau wfiwden awmdiEn TmiERE Fo s,
(d) e oE Fi T e R Al s B ¥ S e
J{ee B fu drg o ?
(1) (@) () (0 (2)  (b), (o) () (3} @ b) (@ (@ (4 % (a) P (d)
Consider the following statements about the ‘Public Accounts Committee’ of Maharashtra :
(a) It consists of not more than 25 members.
(b) Not more than 20 members are nominated by the speaker.
()  Not more than 5 members are nominated by the chairman of Legislative Council.

(d) Itis the duty of the PAC to scrutinize the Finance Accounts of the State Government.
Which of the above statements are correct ?

(1) (@) () © (2) (), (o) () (3) (@) () (0 (d) (4 (a)and (d) only

58. A Y HwEl : (LU THRIRIHR)
(a) Tzt 1. Tl wawe AN g (PEPSU) bt frdrar 1954 we et g S,
(b) 1991Mmm.awmuﬁﬁwﬂmﬁéaﬂuﬁaﬂwm(§mﬂ)ﬁﬁwmm&
T o, .
(c) 1986 W Tt e R A+ Wi wiee iR (oY) Ferirerat wawta wie e et e,
TaEY T

(1) ™ (a), (b) (2) ™ (a), () (3) ad (b), (c) (4) =w ad
Select the correct statements. (Veto Powers of President)
(a)  In 1954, President Dr. Rajendra Prasad withheld his assent to PEPSU Appropriation Bill.

(b) In 1991, President R. Venkatraman withheld his assent to the salary Allowances and Pension
of the member of Parliament (Amendment) Bill.

(c}  In 1986, President Zail Singh exercised the Pocket veto with respect to the Indian Post Office
(Amendment) Bill.

Answer options :

{1) Only (@), (b) (2)  Only (a), () (3} Only (b), (¢) (4) Al of the above
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59. WRIEh! BV TIXATETeA] SISdd a0 7
(1) Hesea TR (Aee) saferd @ ded T ofee 1823 ST H! e,
(2) a7 ST HIUHIT Teh au] HET ST
(3) HuEH TR & Jenfie ol TE T TiSsT et 98 S
(4) AT Bl TS U9 TEAT A § U8 ST,

Which of the following is not true about Sheriff ?

(1) The office of sheriff of Mumbai was formed by Letters Patent Act of 1823.
(2) The term of office is one year.

(3) The sheriff of Mumbai is a post with no statutory status but with prestige.
(4)  Only Mumbai in India have the post of sheriff.

60. TERTY T S A1 & Ay wraien e aea s AT qgar S B ?
(1) H9% ¥ Tads HReiid wReT = el

(2) femsd
(3) "SI
{4y hB

What was the bone of contention in the way of creation of the two linguistic states of Maharashtra
and Gujarat ?

(1) Bombay city to be a separate, centrally administered territory
(2) Vidarbha

(3) Marathwada

(4) Kutch

61. m.m.mmwmmmaﬁawmﬁgﬂaﬁﬁmwm?
(1) TeOatHNE Sgaa R aiq Jure ) aife.

(2) ST 356 W] HLTATYH] TEAHATET e SO ST ue.

(3) TogUTET TR e e i

(4) T @ T Hee ST et aret e fen it

What did the Supreme Court hold in the S.R. Bommai Vs. Union of India case ?

(1) Majority of the State Government should be tested and proved on the floor of the House.
(2) The Chief Minister should be consulted before imposing Article 356.

(3) Veto power should be given to the Governor.
(4) States should get a bigger share of the taxes collected by them.
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62. WEIEID! B FUGT Yool & 7

(1) & 64 - JYUYT & TIEHY Yeiig oregs sadie.

(2) HAT 66 - ITALINIIET FTaSH.

(3)  HEH 69 - T S HvqTd Yoy 99y

(4)  HEH 61 - ITTLYITT BB,

Which of the following is not matched correctly ?

(1) Article 64-Vice-President shall be the Ex-Officic Chairman of the Council of States.
(2) Article 66-Vice-President’s election.

(3) Article 69-Swearing by the Vice-President.

(4) Article 61-Tenure of Vice-President.

63. oraaes st wereren wferes ArT @ivar garewT Ty HGT Tt et ?
(1) Heied <TEeRTET ST o YRR YaTaes Bee W @ s 3,
(2) HITATSN AEFAEETE A1 ST UEaN YSTEET Bed Y @ IEdr 2.
(3) WIHaYT Y& HX HEA.
(4) Ha® FAFHE TEAHER.

How can the Comptroller and Auditor-General be removed from his post ?
(1) By the same process as the judge of the supreme court is removed.
(2) By the same procedure as the Attorney General of India is removed.
(3) By passing the proposal in the Lok Sabha.

(4)  Only with the advice of the Finance Minister.

64. WG HRIYFTAT BIorE] 9T I FHAATT HE- T JeTF G Seng any ?
(1) HTT-XI (BEW 245 § 255) (2) WX (R 244)
(3)  WTT-VII (&&H 239 & 242) (4) AF-XI (HAHF 264 A 291)

In which part and article of the Indian Constitution, Central-State Legislative relations are
mentioned ?

(1) Part-XI (article 245 to 255) (2)  Part-X (article 244)
(3) Part-VII (article 239 to 242) (4) Part-XII (article 264 to 291)

FoA1 FATEIE AN / SPACE FOR ROUGH WORK PT.O.
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65. el e frem =
(a) WIRGTSHT ToEeATER JEassll W[ s Soar S @ bR R g smoe sgaa
g % wies.
(b) TruTeAT Riftrsar Sewr TNl SR JErHE B T 6% .
() whrzemn ey fref @ S i el qarr e @A @ safE s
reaT YA .
(d) TEEHS A HRT WY Tadrena] Fivee bl S
T i
) Taum (a) enfer (b) AT A
2) foram (b) snftr (¢) TS e
3) faam (b), (c) AT (d) TTET SR
@) faum (a), (© efT (d) TUST A
Consider the following statements :
(a) According to the Constitution of India a person must prove his majority in the Legislative
Assembly before he is appointed as Chief Minister.
(b) A person who is not a member of the State Legislature can be appointed as Chief Minister.
(c) Theassessment of the strength of the ministry is not a matter of private opinion of any individual,
be he the Governor or the President.
(d) The salary and allowances of the Chief Minister are determined by the Governor.
Answer options :
(1) Statements (a) and (b) are correct
(2) Statements (b) and (c) are correct
(3) Statements (b), (¢) and {d) are correct
(4) Statements (a), () and (d) are correct
66. wmﬁaaﬂmmmmwﬁgﬁmmmwﬁﬁm&ﬁmﬂ%

eI R EC RS IRICEE

(1) BT THE TATEN

(2) %% TEN @a: B

(3)  Trgudre SEINE IR T ferv T

4) =l TEd T8

If a person is appointed as a Governor for two or more states, his honorarium and allowances will
be paid as following :

(1) From any one state

(2) From Central Government
(3) President will decide the proportion of payment from concerned states

{4y None of these
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67. 2011 9 PV N UYWL FAARYT B TART WL T GIBi o A 7
(1) it e (2) gt el
(3) W R (4)  SreiE AT
In 2011, which Indian Prime Minister was honoured with ‘Bangladeshi Swadhinta Sammanon Award’
by the Bangladeshi Government ?
(1) Rajiv Gandhi (2) Indira Gandhi
(3} Manmohan Singh (4) Atal Bihari Vajpayee
68. | ToUHE HaHld GIRU®! BIv e arg o ?
(a) TTHR 368 STTAR AHAI ToKI HUEAE T FHIAT T8I THNIETSAT TRV TR Grean
TA—JAEIST SEHATET STI9THAT 3T
(b) weH T~ud TER fafe € oty fataes o fhar e oren wow sulta Aear® TeaurnET e
(c) IVl frvTiig Steram Wemafes Werarae 94 WewTd HIVTE ARKE TH T=T€rd! ThHie
e et AT Hed FOMC A& T Uebrien it Jar fre et smome -,
el feciedr A dr sedr e .
(1) (a) T (b) (2)  (b) T (c) (3) Ty TRl e (4) % (o)
Which among the following statements are correct regarding the Indian Constitution ?
(@) To amend the Constitution under Art. 368, two thirds majority of the total membership of the
houses of the parliament is required.
{(b) If any question arises in state as to whether a Bill is a money Bill or not, the decision of the
Governor shall be final.
() No person shall be prosecuted and punished for the same offence more than once, including
any departmental or administrative proceedings.
Select the correct answer from the codes given below :
(1) (a) and (b) (2) () and (€ (3} None of the above 4 Only (c)
69. WY GE{y AR HIHid, W B AR dr oma 7

(a) Tira=TEN gaiear

(b) HE T TG TLHITAE T Rwmmoy

(c) wad g SRag

(d) FHErT dHESRr yaleaar

et Feciedn by 4 9o FresT

(1) @ b)) ) ) W wR (3 (b)© AT (@) () (b) I (Q

In the context of Federal system in India, which of the following characteristics are correct ?
(a) Supremacy of the Constitution.

(b)  Division of powers between Union and the State Governments,
(c)  Existence of an independent judiciary.

(d) Supremacy of the Union Cabinet.

Select the correct answer from the codes given below :

(1} (@) (byand (d) (2) (b)and ()only (3) (b)()and(d) (4) (), (b)and (0
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70.

28 A
IS Taee fEe areHss TEd @EREME gEeda! v S e ?
(1) =eH e gfatitie g 2.
(2) HWEY Ygdd U i S,
3) @R Ffiden uheda vaw frar Tt sea gafdar s a0,
(4) T TAAL e FaiT gasa] Frags S,

Which of the following is not a purpose behind constituting a second chamber for the Indian
Parliament ?

(1) To give representation to Constituent States.

(2) To serve as a federal feature.

(3) To hold second thoughts or detailed discussions on Legislation.
(4) To get powerful party leaders elected to Parliament.

71.

Yo afeie Faviiia Eraiades] vk ey T AR ¢

(a) UEET WA & TaEd T awEd] Fae S oR.

(b) vaTEd SR T wxer ety R ity i e sravar S 6.

() T AR T VT SSTE SAEedd .

(d) duTad Wi HREE & 5 auier e,

g gy et

(1) (a) (b}, (&) (2) (o) (d) (3) (), (4) (b (c) )
Which of the following sentences are true regarding Panchayat Samiti ?

(a) Panchayat Samiti is the apex body of the Panchayat Raj system.

(b) Panchayat Samiti acts as link between the State Government and Zilla Parishad.
() Itis compulsory to have one meeting in a month.

(d) Tenure of Panchayat Samiti is 5 years.

Select correct options :

(1} (@, (b} (© (2) (9 (d) (3) (a) (d) 4 (b), (o), (&)

72.

74 =N TG TTIGERY stuRrETER Rl e (TR-wiid) T S w9 s
BT Y BrafquaTd ST ST,
(1) 243-V (2) 243-W 3) 243-Y 4) 243-Z

Municipal Councils (Nagar Palikas) are entrusted with some duties and responsibilities as enshrined
in the 74th Constitutional Amendment Act under Article

(1) 243-V (2) 243-W (3) 243-Y 4y 243-Z%Z

F=1 FHTETS JFT / SPACE FOR ROUGH WORK



A 29 T14
73. R it i B FEEa GRas! IO Ael TG G T 7

(1) e Seifaerll wrA - oTE, Rk A TEm W, el stedn | .
(2) T goa=as =9 - oy T wadY yHE WO T S S
HIBETSTIT TG,
3) TeEmie @ usireEr - iferTEOTE AT WG B0 Wi e
ST = S,
@) e faem afterl wE - facerd faee storesTr 9Tt g Il g B
Which of the following pairs is not correctly matched about the role and functions of the District
Collector ?
(1) As a District Magistrate - To grant, suspend or cancel licenses of arms,
explosives.
(2) As a District Co-ordinator - To work as the head of rationing system and control
black-marketing.
(3) As a Chief Protocol Officer in - To receive and organise the stay of VVIPs.
the District
(4) As a District Development Officer - Direction and fulfilment of development plans in the
district.

74. 74 1 GEAIGEN SfUTRHEET @adst B faum see o ?

(1) ¥@d: SO 1989 HEA TG M GBI &1 65 I TTAGERN (q8UE Wisw To @H FHGHT
ST ATl el Bt a0 TemmEn A5l A e 9 @ T

) < R aeere gaia e frghs 1990 7= wiew B wig Amawe fesme O
T H.

(3) TRIHETS FEHR AT 1992 AL GUILT TUIeHT (€7 Aise AT o FHIn el SHEgSAT

fSReT 1992 H&d 74 <Y wEAIgowI VA Ao Hd. 1 URIA 1993 UgH A @F] S,
@ alae TEe L

Which one of the following statements about 74th Constitutional Amendment Act is incorrect ?

(1) Originally introduced as the 65" Amendment bill in August 1989 by the Rajiv Gandhi

government although it was passed in the Lok Sabha but did not get assent of Rajya Sabha
and hence lapsed.

(2)  Arevised Nagarpalika bill was introduced by V.P. Singh government in 1990 but lapsed as the
Lok Sabha was dissolved.
(3) Narasimha Rao government introduced the modified Municipalities bill in Sept. 1992 and

passed by the both Houses of Parliament in Dec. 1992 as the 74t amendment. It was brought
into force on April 1, 1993,

(4) None of the above.

o1 HETR AN / SPACE FOR ROUGH WORK P.T.O.



T14 30 A
75. BEAM FaAThRESEY TS B R a9 e ?
(1) srEvl gagiae afafm 2006 s 1924 =1 ety sfafET @ HT0aT .
2) WW%@WHWWWHWWWWW%WW
BRIBIBETS] HLA.
(3) BN AFYMNTH FB AT TGS ATUN I THad B 1.
(4) FRIISIIG T BIEv STt S,
Which one of the following statements about ‘Cantonment Boards’ is correct ?
(1) The Cantonment Act of 2006 has repealed the Cantonment Act of 1924.
(2) The President and the Vice-President of the board are elected by the elected members from
amongst themselves for a term of five years.
(3) Cantonment boards are grouped into two categories on the basis of the civil population.
{(4) There are six Cantonment boards in Maharashtra.
76. W@ AT GIAATb] Bl T eIl a1 IaTal R, &t SNfir e Seava SeEer

TR ?

() UHAY IME YEcirEn Rasd Feane sttt onfr stftrear Hsaiean w1 wwhba .

(b) THEERIHI FFT WEER, AH M Wi THHT 9 qriie arssisl 89 $ad frTan.
(c) UIWT TY =&l TR idT 3ad Eodre HICUa e 3T8.

(d) TSP @I TR TR & 9w T e R

A S

(1) (a) 1T () 2) (a) b) sfT (0 (3) (a) () e (d) (4) WA

Which of the following factors are responsible to change the role, status and authority of the office
of the Collector after independence ?

(a) Adoption of Parliamentary System of government has caused concentration of powers and
authority in the hands of the Minister.

(b) The District Collector has to deal with the M.P, MLA and local political and social bosses.
(¢) Panchayat Raj has led to the emergence of a new class of politicians.
(d) The Police tend to become special importance to the political leadership.

Answer options :
(1) ({a) and (c) (2) (@), (b) and (c) (3) (a), (¢} and (d) (4) All above

FEAT FTHTETS JAFT / SPACE FOR ROUGH WORK
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77. ST W0
‘A’ (Tr=3) ‘B’ (frear uftee/dawa | 1 )
(a) arraT ()  ofee wiwd
(b) @HEH (i) Hew fug
(c) W= Wl (i) e faewm oftug
(d) oTeuTaw W39 (iv) SIS varad
T

(@ (b) () (d)
Iy @@ (@) (i) (iv)
(2) (i) iy @(v) ()
(3) () (iv) i) (i)
(4) ) (i) (v) (i)
Match the Pairs :

‘A’ (State) ‘B’ (Name of Zilla Parishad/ Panchayat Samiti)
(a) Assam (i)  Aanchal Samiti
(b) Karnataka (i) Mahkama Parishad
(¢} Madhya Pradesh (iti)  Zilla Vikas Parishad

{d) Arunachal Pradesh (iv) Janpad Panchayat
Answer options :
(@) (b) () (d)
1y ) i) (i) (v
(@) @iy Gy vy ()
(3 Gy Gv) (i) @
4 @ i) (v (i)

78. ﬁﬁwﬁﬁwmﬁm@ﬁaﬁﬁwﬁﬁm(ﬁ)wmm)?
(a) UTHT oM Tl I SrTvEs ¥ 7 wEwd) QR et Raardt e B
e @ stterEsTa B,
(b) 9L WA ST WU e @ TrEiyoy.
(€) TN W Wrefe AT %% 9 qEEn gE B,
i Sy
(1) (a) 3T () (2) wH (c) (3) W (a) 4) =lw ad

Which of the following statement(s) is/are true regarding the functions of Zilla Parishad ?

(a) Provide essential services and facilities to the rural and urban Population and the Planning
and Execution of the development programmes for the district.

(b) Set up and run schools in urban areas.

(c)  Start primary health centers and hospitals in villages.

Answer options :

(1) (a) and (c) (2}  Only (© (3) Only (a) (4) All the above
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79.

32 A

U WITEST GUTT AT STIeT FETal STedTed Wi I Sy Siepsmdl fadaiomaraa
IvTn RTeTTel Hevean stk ?

(a) YRTER ¥ FUNEAENN Tl EaevarErdl @i G el (Ombudsman) i
H{AIq ATal.

(b) STEETEN BT STeCrer CaTTaTa el Geeaiadie SUTd Gaivarardl Ueb T SN e HIodid
EIEIN

(c) wEMRME 42 .

(d) & FTETE ST AT SR T JEiHe) W aTeqe WU W S ar.

Al W

D @O © 2 @ b 3) ©)© @ @ e

Which are the recommendations of the Sixth Report of Second Administrative Reform Commission
on Local government and Democratic Decentralisation ?

(a) A local body Ombudsman to be constituted to look into complaints of corruption and
mal-administration.

(b) A National Commission on urbanisation to be setup to suggest steps to deal with rapid
urbanisation.

(c) Direct election of the Mayors.

(d) Set-up a metropolitan transport authority in all cities of one million plus population.
Answer options :

(1) (@), (b) and () (2) (a), (b) and (d) (3) (b)), (c) and (d) (4) All above

80.

73 ST GEAGEER BEET WIS HIvRT T (fireew) Ufms aTR 7

(1) TG W &0

2) |d WO §9 TrEE YR FasvE

3) Preasvs wehaEd e o 21 @

(4) TETEd T S @ e

Which of the following provisions (features) of the 73d Amendment Act is voluntary ?
(1) Organisation of Gram Sabha.

(2) Direct elections to all seats at all levéis.

(3) 21 years to be the minimum age for contesting elections.

(4) Making Panchayat Raj as autonomous bodies.

=11 FTETAE FET / SPACE FOR ROUGH WORK
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81. forefuemraren TaTwia Elieder Bivrd fram ey o ?
(a) G ZREw & ug Fmfo &
(b) U 1774 el fmior .
() YIN PO HUU-BHIoE=al Ar & 98 o7%.
(d) NG W i, e a1 Sraaren R 39 e el g w1 freaw fieas @i

HA 21T
T S
(1) (a) o (b) (2) (b) @l (o)
(3) (a), (b), (¢} FMT (d) (4) (a) 1T (c)

Which of the following are true about the office of District Collector ?
(a) It was created by Warren Hastings.

(b) It was created in 1774.

() It succeeded the Karori-Faujdar of Mughal Period.

(d)  Sir William Wilson compared the District Collector to a tortoise on whose back stood the
elephant of the Government of India.

Answer options :
(1) (a) and (b} (2) (b and ()
(3) (). (b), (c) and (d) (4) (a) and (o)

82. wIEETHH! VY FIU™ TR o ?
(1) T Fesr & JamEeran gy & Tew TR,

(2) g R e T @ e Ses 233 § 236 sfifed SR Sevd e R
BB

(3) 73 = ST 74 A GAIGHRT iftEAETy R 8 SRYENT TeE W X SR X A
wel e feTo wEI Faer o,

(4)  wEiE THd .

Which one of the following statements is incorrect ?

(1) ‘District’ is the basic territorial unit of administration in India.

(2)  Originally, the Constitution of India made no mention of the term ‘district’ except in Articles
233 to 236.

(3)  The 73" and 74" Amendment Acts included the term ‘district’ in the Constitution at many
places under Part XI and XI A of the Constitution.

{4) None of the above.
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83.

34 A

R e R e TETEn fe i TR ue aeidE o T ga
yfrwe e g sl aftmra SRR TEEeT T Sierarard TSasTErTSs JRT HTem=n
ST A 7 Rwrg T ST 39 Sifenrarg aieee e WA S Uk,

1) um-facaia (%] 2) TA-gore (%) (3) d=-Tgata [%) (4) STE-dIT [%J

If at a special meeting of Zilla Parishad in Maharashtra, not less than of the total number
of councillors vote in favour of a resolution requesting the State Government to withdraw the Chief
Executive Officer from office, the State Government shall withdraw such officer from service under
the Parishad.

1y - Z 3 2
(1) One-Half [5] (2) Two-thirds [g] (3) Three-fourth [ZJ (4) Two-fifth (g)

84.

BT TR FErTETEI Wbl fadbdieTor ai gar wed W ?

(1) 9. e wta (2) 9N HEaT |

(3) SINRER |E | (4) SEICE TEH G

Which Committee is also known as Committee on Democratic Decentralisation in Maharashtra ?
(1} PB. Patil Committee (2) Ashok Mehta Committee

(3) Bongirwar Committee (4) Vasantrao Naik Committee

85.

oI ST T W IR 39T 73 ST e eR ST St v aiqe/dl S
e ?

(a) Toteer Pravee aftrde seae &,

(b) WAREATETS 50% SIS 3TIET.

(© Ta Prata s enfer T fora TR TTe.

d) TS woEle g oty srmErd az/a .

Ty Sy

1) (a), b) d® (@@ (2 @) () ST (d)  (3) e (a) ST (b) (4) W (C)

The 73" Constitutional Amendment Act which aims at promoting the Panchayat Raj Institutions in
the country, provides for which of the following ?

{(a) Constitution of District Planning Committee.

(b) 50% reservation of seats for women.

{c) Establishment of State Election Commission and Finance Commission.
(d) Direct elections of Members and Chairpersons at all levels.

Answer options :
(1) (a), (b) and (0) (2) (a), {©) and (d) (3) Only (a)and (b) (4) Only (c)
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86. Grileds! HIVTeAT FHETH Fated AEwY el SgT WA 397 fsanl gar amim e
9Thd 7
(1) WRE &8 =ReRt (2) WRAY YAy
(3) HRAW™ T (4) Tl HE T
As per whose approval the Supreme Court can sit at any other place in India, other than Delhi :
(1)  Chief Justice of India (2) The Prime Minister of India
{3) The President of India (4) None of the above
87. WU WIREHd SIETTET I STedaT HTTTedT aled <Irarraret St s (RemmieT)
Y& B I ?
(1) T 141 (2) HIDT 142 (3) FT=T 136 (4) HTHT 226
Which of the following article of Constitution of India has conferred Discretionary Jurisdiction to
the Supreme Court of India ?
(1) Article 141 (2} Article 142 (3) Article 136 (4) Article 226
88. findeurl & TaRar A1 HUW @i T Qg B i o ?

(a) WEFY gETueTd
(b) WErHH T AT
() = IRET

(d) & aEsmasH

TR T

(1) (o), () (b) (a) (2) (9, (b), (d), (a)
(3) (@ (b), (), (d) 4 (b (0), (a), (d)

Which is the proper sequence of the court from top to bottom ?

(a) Metropolitan Magistrate

{b) Assistant Sessions Judge

(¢} High Court

(d) Chief Judicial Magistrate

Answer options :

(1) (¢} @), (b). (a) (2) (0, (b), (d). (a)
(3) (@ (b) () (@ (4 (b)) (o) () (d)
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89. TER IR Fared WraTware <t vd Fgee g st e S e @ A qnTid
3T ATeN, anfr
(a) U@ IoF <TETEaTEl HUET 2 far sifte e T e 5 9y g
(b) UETEN IoT ~ATATAATET STgET S9N 2 Rhar st <grarersran fram W@ 10 a9 stfyeE fb,
() Usgaien A faema fadidmr fbar,
(d) dr forer @ o= <t T 15 99 sifraen FErE.
T TN
(1) I (b), () T (d) TP _A
(2) TIE (a), (b) N () T AR
(3) TIH (a), (c) T (d) T A
(4) WG (a), (b) T (d) AT MRS
A person shall not be qualified for appointment as Judge of the Supreme Court unless he is a
citizen of India and
(a) has been for last 5 yrs a Judge of a High Court or of two or more such Courts in succession, or
(b) has been for at least 10 yrs an advocate of a High Court or of two or more such Courts of

succession, or

(¢) s in the opinion of the President, a distinguished Jurists, or
(d) has been Practicing in sessions court for at least 15 yrs.
Answer options :
(1) option (b), (c) and (d) are correct
(2) option (a), (b) and (c) are correct
(3) option (a), (c) and (d) are correct
(4) option (a), (b) and (d) are correct

90. @Il F [TUMTd 7B BT

(a) W TeaTEE Uh Iod e e

(b) o T ¥ AT T S ST @ ST AT e HeodrEn AiwREs
39T <ITATAATe Gd ST STaar.

T Il

(1) (a) e oTds S U (b) IF L.

2) (a) SR (b) A Forer STg® AR

3) Faum (b) ¥ (a) Fremrmeh wfa Tl

(4) < fau g% .

Analyse the following two statements :

(a) There shall be a High Court for each state. . _

(b) Every High Court shall be a Court of records and Shall have all powers of such a court including
the power to punish for contempt of itself.

Answer options :

(1) (a) is correct but (b) is incorrect.

(2) (a) and (b) both statements are correct.

(3) (b) is not related to (a).

(4) Both the statements are incorrect.
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91. ST T GG AT BT AR 7

(@) AR SRS (by T g yEL TS

(¢) o o Riq U 7oK (d) arfireda =it

QA T

(1) (a) anfor (b) (2)  (a) ST () (3) W (b) (4) wre gd

What are the base for Identification of class of Poor ?

(a) Landless agricultural labour {b} Rural and urban poor person

{c} Small and marginal holding labour {d} Uneducated person

Answer options :

(1) (@) and (b) (2) (a) and (0 (3) Only (b) {4) All above
92. WAKIM SR 3T anféies Fraem s .

(1) s I 2) T (3) wdw (4) Tew™

The market and economic planning in India is to one another.

(1) Supplementary (2) Complementary (3) Competative (4) Neutral

93. ifw Guro Havia we faam feme =
(a) HTHITEHT Yfrpe wUAT Frasmees ghaen Rimm o w o
(b) U @S GETINETS S Sl 1.
(c) Yargd TSt e quiqe Hraffeed woard giar S o,
TUTAFT BIV/HIURN g/ a STR/amed ?
(1) (a) STRT (b) (2)  (b) &R () (3) (a) &R (0) 4) =« w9
Consider the foilowing statements regarding Economic Reforms :
(a) The role of the Government converts from the ‘controller’ to the ‘facilitator”.
(b) The Government commits to suitable reforms in the infrastructure sector.

(¢} The Government commits to the full functional Panchayati Raj Institution.
Which of the statement/s given above is/are correct ?

(1) (a) and (b) (2) (b)and (¢ (3) (a) and () (4) All of the above

94. 73 3T 74 = W= GERN HUANT Bed 243 DA oHH AR a7,

(1) TR AN TF JAYT A AR T e

(2) T SN U fEieriet SR wieeiardt wde sred

(3) URY VT W TgAte S Aigwiard T s

(4) TR SFT=AT 7 JeAleTeT A wideiarsd! e s

Salient feature of article 243 D of 73/ and 74th Constitution Amendment Act is -
(1) One-third of the total number of seats to be reserved for women

(2)  One-half of the total number of seats to be reserved for women

(3)  One-fourth of the total number of seats to be reserved for women
(4)  Two-third of the total number of seats to be reserved for women
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95. @ fau™ faamra =
(a) FaT AN SETEATSAN go-d USRI a1 HI S HIen e,

(b) 1990 TT HET AT ASNAA TR &) Ve WIS ARTewia TR SATEHA J&I TR Ehedl.

CriE e U IRIRERICTE R NE i A

(1) % (a) (2) W (b) (3) (a) T (b)
Consider the following statements :

(4)

ATDT ATE

(a) Employment increased at a slower rate as compared to output in the services sector.
(b) Growth of average productivity of labour in India was higher than employment growth in

services sector during the period of 1990'.
Which of the statement is given above is/are correct ?
(1) Only (a) (2) Only {b) (3) (a) and (b)

(4)

None of these

96. 74 =1 T EENTATT BV SN AE¥S BT 7
(a) Toeer P g B
(b) T Wi e
(c) freromean &
(d) WEFFTT Wil T

TS S

(1) (a) sl (d) (2) % (a) (3) (a) ST (b) (4) o wd

Which things are essential according to 74th Constitution Amendment ?

(a) Establishment of District Planning Committee

(b) Establishment of Taluka Committee

(c) Right to Education

(d) Establishment of Mahanagar Committee

Answer options :

(1) (a) and (d) (2) Only (a) (3) (a) and (b) (4) All above
97. aftew Frfeemslt Bt BriwT Frda amed ?

(a) Ui TrEIvT fae HRisH

(b) IR SwETE A

(¢) & fawm wrimd

(dy Tmiror faveror

i e

(1) (a) ST (b) (2) % (b) (3) @I AT (4) T TE

Which Programme are related to poverty alleviation ?

(a) LR.DP [Integrated Rural Development Programme]

(b) LAY. [Indira Awas Yojana]

(c) Road Development Programme

(d) Rural Education

Answer options :

(1) (a) and (b) (2) Only (b) (3) None of these (4) All above
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98. WIS FESHNE Y& By 7

(a) wirepemE Fgiem (b) EHwATE Fram
(c) wmive Fawe (d) g e
T W

(1) (a) o7 (b) 2 @ b (3) @ b)afrd @ "

Which of the following are types of planning ?

(a) Democratic Planning {(b) Totalitarian Planning

(c)  Social Planning (d) Centralised Planning

Answer options :

(1) (a) and (b) (2) {a), (b) and (0 (3) (a), (b) and (d) (4) All above

99. I REN X ¥t BRI (RLEGP) ¥e8T Y& HLvae e ?
(1) 1581972 (2) 15T 1983 (3) 15 offTe 1991 (4) 15 HTR 1993
When the Rural Landless Employment Guarantee Programme (RLEGP) was launched ?
(1) 15August1972 (2) 15 August 1983  (3) 15 August 1991 (4) 15 August 1993

100. NIRRT HAXE ewame (1981 § 2012) gOEH ¥ S SaEeEeET (GDP) 3% TR
Bl
(1) 35 (2) 5.7 (3) 59 (4) 42
The average GDP growth rate during the later phase of planning from 1981 to 2012 was
percent.
(1) 35 (2) 57 (3) 59 (4) 4.2
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